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QUESTION 1

A customer is in the process of installing a two node TS7740 grid with a single production site. The second site used for
DR is 50 km away. They want to set all logical volumes to have a size of 6 GB. What is a possible effect on the
customer\\'s tape workload? 

A. It may increase the recall time for logical volumes 

B. It may increase the amount of data stored on stacked volumes 

C. It may increase the mount time for fast ready scratch volumes 

D. It may increase the amount of data stored in the tape volume cache 

Correct Answer: A 

 

 

QUESTION 2

In a TS7700 R2.x system, how many logical paths are provided by the minimum FICON adapter configuration? 

A. 256 

B. 512 

C. 1024 

D. 2048 

Correct Answer: B 

 

 

QUESTION 3

What address space is used by z/OS to communicate with the TS7700? 

A. JES2 or JES3 

B. Workload Manager 

C. Object Access Method 

D. Catalog Address Space 

Correct Answer: C 

 

QUESTION 4
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A banking customer\\'s TS7740 was unable to replicate the tape backup data to the DR data center via the current grid
network. The IBM support engineer had created a PMR with Severity 1 because the tape library is supporting the
customer\\'s production environment. Six hours after the PMR was created, IBM Level 2 support requested to change
the Severity Level to 2, even though the problem had not been resolved. Based on IBM guidelines, why would this
problem need to be reduced to Severity 2? 

A. Severity 1 only applies to Tape Faillure 

B. Severity 1 only applies to Network Failure 

C. Severity 1 only applies to Production Failure 

D. Severity 1 problem must be resolved within 6 hours 

Correct Answer: C 

 

 

QUESTION 5

On a TS3500 Tape Library, what is the minimum number of cartridge cells that can be configured in an L23 frame? 

B. 58 

C. 117 

D. 248 

Correct Answer: B 
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